TMS House, Cray Avenue, Orpington, Kent BR5 3QB

E frtJC(')SO| th - 4+44 (0) 1689 885 044 f: +44 (0) 1689 885 026

Ermail: info@frucosol.uk.com Vist: www.frucosol.uk.com
profe55|on0| catering equipment Follow us on Twitter: @frucosoluk

-37
| |
~36
-35
30 // // -34
29 . | g - 32
31
E E
33
26 ! ;
25
g
7
21 [ ] ;
20 o 24
19 = ‘Ei - 23
18 < ; ¥ > 22
14 < O = .16
N .17
15 « ? 3 7 v
‘ > 3
13
e e 12
11
2 : e
o 9

=t i

info@frucosol.uk.com [l '
www.frucosol.uk.com |
[ | O



: frucosol uk

@frucosoluk

Frucosol SF-5000 Oil Filter Diagram

TMS House, Cray Avenue, Orpington, Kent BR5 3QB
+44 (0) 1689 885 044 f: +44 (0) 1689 885 026

info@frucosol.uk.com www.frucosol.uk.com

REF

sf5000-001
sf5000-002
sf5000-003
sf5000-004
sf5000-005
sf5000-006
sf5000-007
sf5000-008
sf5000-009
sf5000-010
sf5000-011
sf5000-012
sf5000-013
sf5000-014
sf5000-015
sf5000-016
sf5000-017
sf5000-018
sf5000-019
sf5000-020
sf5000-021
sf5000-022
sf5000-023
sf5000-024
sf5000-025
sf5000-026
sf5000-027
sf5000-028
sf5000-029
sf5000-030
sf5000-031
sf5000-032
sf5000-033
sf5000-034
sf5000-035
sf5000-036
sf5000-037
sf5000-038

=z
(@]

O 00 N O 1 b W N

W W W W W W W W W N DN DD DNDDNDDNDDNDDNDDND =2 =22 a2 a3 a3 a3 a2
0 N O 1 A W N = O W 0 N OO L B W N = O O 0O NO UL A W N = O

Frucosol SF-5000 Oil Filter Diagram

Wheel

Nut M6

Screw M6*10
Lower chamber
Motor

Screw M8*20
Nut M8

Grower washer M8
Washer M8
Reduction
Motor hose
Reduction
Sleeve

Back cover
Screw M5*10

Network cable cover

Network cable
Front cover
Fuse holder
Fuse

Switch

Cap

T tube
Reduction
Right cover
Left cover
Upper chamber
Handle ball
Base hose
Hose

Hose ball
Inox stick
Hose outlet
Filter rubber
Inox filter
Filter
Carbon filter

Inox frame

info@frucosol.uk.com
www.frucosol.uk.com

Price

£38.00
£1.20
£1.00
£516.00
£1.140.00
£1.00
£1.20
£1.20
£1.00
£36.00
£162.00
£36.00
£30.00
£8.00
£1.00
£12.00
£24.00
£96.00
£6.00
£1.00
£8.00
£42.00
£150.00
£60.00
£36.00
£50.00
£620
£18.00
£48.00
£520.00
£24.00
£38.00
£72.00
£82.00
£140.00
£2.00
£6.00
£108.00

:0



